
Sentence Jumbles Questions Overview
Sentence Jumbles Questions have a good weightage in the Banking Exam and the type of question asked in Banking

exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried

to elaborate the concept used in Sentence Jumbles Questions.

Question
A sentence divided into 4 different segments is given below. These segments may or may not be in the correct sequence.

Rearrange these parts of the sentence so as to make it contextually and grammatically correct and mark the correct

option. In case of no arrangement, mark the option "No rearrangement required". and are nearly back to pre-crisis levels.

(A)/ Not only tractors but rural sales of cement and soap are also doing better than urban sales (B)/ most companies have

reported a robust rebound in rural sales. (C)/ with the lockdowns lifting from May onwards, (D).

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. DBCA

2. DCBA

3. DABC

4. DACB

5. No rearrangement required

Solution
The correct answer is option 2 i.e. DCBA.

Concept/Grammar

rules
Applications
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The given question

suggests finding the

correct arrangement of

parts forming a

coherent sentence.

The first part will be

'D' as it mentions

the subject of the

topic of discussion.

The second part is

'C' because it

mentions the aspect

as to what

happened with the

lifting of lockdown.

The third part is 'B'

that tells the

departments that

have started to do

well.

The fourth part is 'A'

as it mentions the

other part of the

sentence i.e. the

sectors that have

done better are

back to pre-crisis

levels. 

Hence, the correct

order is DCBA.
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